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N FeC2O4 o
“ ”» : m( Fe)
N N N 5.6g m(0) =7.6g-5.6g=2.0g.
o (n) (m) .
n, N
M _m Tt .
(M) n M n, Nz(Nl N,
3 m( Fe) 5.6¢
) n(Fe) M(Fe) 56 g/mol _4
n( 0) m( O) 2.0 ¢ 5
° M(0O) 16 g/mol
Co
2 98% ( 1. 84 g/cm’)
o ° H,SO0, 200 g 20% H, S0,
° H,50,( ) o
1. A.40.8 ¢ B.40.8 mL. C.22.2 mL. D.20 mL
H,S0, H, S0,
m
V =—
: Py
: : H,S0, :
: o V, x1.84 g/em’ x98% =200 g x20%
“ V,=22.18 mL=22.2 mL
. H,S0, m=pV =
1.84 g/em’® x22.18 mL.=40.8 g A.Co
o 2.
1 14.4 g FeC,0,(
) N .
7.6 ¢
(e .
A.FeO B.Fe,0, C.FeO *Fe,0, D.Fe,0,
Fe.C.O
56.12.16 FeC,0, °
144 gx56 3 0.44 ¢ \
mFe) = S o x2r16xa= 08
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20 mL 0.5 mol /L

o

( ) -

A.36.4% D.22.8%

S
H,S0, H,SO,
S.Na

B.46.2% C.53.1%

NaOH

S—H,SO,—Na,SO,—2NaOH
: S—2NaOH
32 g 2 mol
m(S)  20x107° L x0.5 mol/L =0.01 mol
'm(S) =0.16 ¢

S w=——""""+

0.16 8 100% =36.4% Ao

100% =

0.44 ¢
4 19.7 g Fe.FeO.Al.Al O,
540 mL
2.00 mol * L™'  H,SO0,
8.96 L. Fe. FeO. Al.
Al O, 0.284.0.183.0.274
0.259.
2.70 mol ¢ L™

NaOH( aq) o

Na, S0, - Na
S0O; - :
2NaOH ~ Na,SO, ~ H,SO,
:n( NaOH) =2n( H,S0,)
c( NaOH) - V NaOH( aq)
=2¢( H,S0,) -V H,SO,( aq
V NaOH( aq) o :800 mL
3.

Yme(R") =Yne(R") S

© 33

“« » (R™)
m
c¢(R")
n °
5 N
pH=1 ¢( AI’*) =0.4 mol/L ¢(S0,>")
=0.8 mol/L.  ¢(K") ( ) o
A. 0.15 mol/L B. 0.2 mol/L
C. 0.3 mol/L D. 0.4 mol/L
5 CHT.
A’ (K" .S02".OH ~ (KT +

c(H") +3c(Al'") =¢(OH™) +2¢(S0;")

pH=1 ¢(H") =10 "mol * L™

K, K, =c(H")

¢(OH™) 25°%( ) K,=1.0x10™"
¢(OH™) =10"mol + L™ OH"

¢(H") =107" mol *
L™ ¢(Al'") =0.4 mol/L ¢(S0,>”) =0.8 mol *

L™ ce(K*) +¢(H™) +3¢( A')
=¢(OH™) +2¢(S0;") c(K")
0.3 mol * L' C,
6 ( HCOOH)  NaOH
pH =7 ( ) o
A. ¢(HCOO™) >¢(Na™)
B. ¢( HCOO™) <¢(Na™)
C. ¢( HCOO™) =¢(Na™)
D c¢( HCOO™) ¢(Na™)

HCOO ™ \Na® H*.OH"
c(Na") +¢(H") =

¢( HCOO™) +¢(OH™) pH=7
c(H") =¢(OH)
c¢(Na®) =¢(HCOO™) . Co >
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Cl, 1 +2H,0 n( MnO,) : n( HCI) =0.4 mol :
12 mol /L. x0.8 L.=0.4 mol: 0.96 mol =1:2.4 >
1:4 MnO, ;

:an(HCl) :LXO.96 mol

S0, H,. 4 4
NO, =0.24 mol. A,
NO. N
MnO, .
A
( MnO, +4HCl( ) ===MnCl,
+CL T +2H,0 n( MnO,) : n( HCl) =0.4 mol:
) ( 12 mol /L x0.8 L. =0.4 mol: 0.96 mol =1:2.4 >
) o 1:4 MnO, ; 0.96 mol HCI
o 1 1
. n( CL) =an(HC1) =%
N 0.96 mol =0.24 mol;
1 0.4 mol MnO, 800 mL 12 mol/L MnO, 0.96 mol HCI
Cl, 0.24 mol.
(). B.
A.0.24 mol B. 0.24 mol N
C.0.48 mol D. 0.48 mol 1.
A
MnO, + 4HCI( ) MinCl, + 2 100 mL 18.4 mol/L H,S0,
> 4 5
FeBr, x
N N N N 1
(x+2xx?) x0.1 Lx1
3 o 2.24 L -
7 100 L 22.4 1, * mol
1 x=1.2mol « L'
2.24 1 ) —
3
:Fe’* >Br~ Br~ Fe**

12016 —10 -29)



